#include <mega8.h> 

bit wechsel;

unsigned int capture1,capture2,capture;

unsigned int templ,temph;

// Timer 1 input capture interrupt service routine

interrupt [TIM1_CAPT] void timer1_capt_isr(void)

{

   if (zaehler)

   {

      templ=ICR1L;

      temph=ICR1H;

      capture1=templ+(temph<<8);

      zaehler=!zaehler;

   }

   else

   {

      templ=ICR1L;

      temph=ICR1H;

      capture2=templ+(temph<<8);

      zaehler=!zaehler;

      capture=capture2-capture1;

      OCR2=capture; 

      TCNT1L=0;

      TCNT1H=0;

   };

}

// Timer 2 output compare interrupt service routine

interrupt [TIM2_COMP] void timer2_comp_isr(void)

{

PORTC.0=!PORTC.0;

}

.

.

.

.

TCCR1A=0x00;

TCCR1B=0x83;

TCNT1H=0x00;

TCNT1L=0x00;

ICR1H=0x00;

ICR1L=0x00;

OCR1AH=0x00;

OCR1AL=0x00;

OCR1BH=0x00;

OCR1BL=0x00;

.

.

ASSR=0x00;

TCCR2=0x0C;

TCNT2=0x00;

OCR2=0x00;

